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frder () @l uw aifard €

(i) Wi angr o ctt

(i) T @ 3w 9D W sifted €|
Note: (i)  All questions are compulsory.

(i)  Programming language ctt

(iif) Marks allotted to the questions are indicated against them.

1. (@) = 9w @ angeye aarsy - 2
Give the output of the following program :-
# include < iostream.h >
# include < conio.h >
main ()

i
1

clrser( );
for (i=3;1>0:-1)
cout <<i;
cout <<i;
getch( ),

return 0;
H
(@) wIeTexr AR fevgaer BT IUAnT I3y | 2
Explain the usage of constructor and a destructor ?
(M Y= yor @ 3Ry & M Ta3u | 2
Name the different types of [nheritance.
(@) @Eex @ & gvg fear oar § ? | 2
Explain the declaration of a pointer ?
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What is relationship of a class and its objects ? How is memory
objects ?

2
allocated to a class and its

c**ﬁa@mmﬂ,mmﬁmmwﬁ?%?

2
How are binary files different from text files in ¢t ¥o
ﬁfmwé?[ouﬂgazﬁ%-QW$mmm )

What is a stream ? Name the streams generally used for file 1/0).

Waﬁmﬁﬁmﬂﬁaﬂmwﬁﬁrﬁzmﬁaﬁﬁmcﬁﬁwmﬂm
fefay |

4
Writeactt program to print largest element of an array by using a function.
e Td mzde RfTadd e 37 qRwfty HIfoTY | 2
Define Public and Private visibility mode.,
éﬂm&m%ﬂmwwﬁ?sﬁﬁﬁmwnmmué? 3
What is base class and derived ¢lass 2 How are these two interrelated 2
Define the constructors for the following definitions —
class A | int x :
float v,
public :
A (int, float);
b
class B : public A
{ public :
b
Freifafea 1 wftng 4 wwemge — 5

Explain briefly the following :-

(i) gAdwgIe (i) ®EoTA 3NER

Encapsulation Conditional Operator
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urREfhaRT v Hoagford —
Convert into postfix expression -
A+(B+C~-(D/ETF)+G)+H
T 3 fHedl geivie @1 T9E @A @ oy goeniRen T |

Write an algorithm 10 insert an element in a queue,

WA el o @ et @ for argwd v @ sew § oenien forfag |

Write an algorithm for scarching an clemient in an array using binary search.

w
B

fudl o=

rJ
b |

ThH W A [3)4) FEN ¥ WR few o 2 s| W B & ofenit @1 4 age
VRO @ aravamal 81 4fS A [0) [0] B 90 UZW 5000 & o A [1] [2] @

AT FaI3U SEfe W dled Hul 39l N 8 |

2

An array A [3] [4] is stored in the memory with each element requiring 4 bytes of storage.

If the base address of A [0] [0] is 5000, determine the location of A [1] [2] when the array

is stored column major wise,

frfafad @ deaem @id Rig @ f&a g ad &3 |
How vou will sort the following with the help of selection sort method.
10, 22, 65, 223, 87. 343, 98, 244, 543, 234

=1 w g wifvol @ gag 3 ganfua aifew -

Verify the following using the truth table -
a-(a+ b)=a-b
frfafad &1 sTaeiFie 9a3t — http://www.ukboardonline.com

Find the complement of -

Fla, b)=a-b+a-b

fer g qfera wawm @1 & #u @) wergar 3 Rega aifong |
Reduce the given Boolean function by using Karnaugh Map.
Fle,y,z)= ¥ (2,3.4,6,7)

gfera Ieroldl &) AEE U & Diford —

Simplify using laws of Boolean Algebra -

X-y+Xx-2+2xyz

f¥Ereal aTeTraT # SELECT Ud PROJECT SMURIA &1 GHSEY |
Explain SELECT and PROJECT operations in Relational Algebra.
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(@) 9= @ 993y (i) Brre (i) zo=
Explain the followinyg - (1)  Domain tir)  Tuple

() sQL # =tafad smewl & fa=ga fafdd )

Write the syntax of following in SQL commands.

(n ALTER TABLE (i) INSERT  (uit) DELETE vy ORDER BY

What is computer virus 7 Write the name of any two viruses.

(W) 99 U9 WR "edd 9Tl @) Ieng |
Explain Bus and Star Network Topology.

() frsfeifag ov Gftrg ool falea - () ofafies Ao

Write shon notes on following - (1) Transmission Mcdia

(8)  HTML UG HTTP 4 3=iR 4argy |
Differentiate between HTML and HTTP.
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(i) wreH
(ii) Modem
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